Appendix

Calculation of the sample size formula
When combining (6) and (7) and replacing A?|rj by it’s expectation, the following
calculations lead to the overall sample size formula (9).
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This quadratic equation can be solved with standard algebra techniques and leads to
the following result

o?(k+1)? <q1a/2 + (Z1—,6)2

Ny o =
1,2 2k n
I G Y SO U i >5_1 E(A%ry)
2
4k? (Q1foc/2 + CI1—B)

. (qla/Q + (Zl—ﬂ)2
1

Since we are interested in positive integers, we take the positive solution from above. [



